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Aufgabe 1

Welche Aufgabe aus dem Einmaleins wird hier durch Spriinge auf dem Zahlenstrahl
dargestellt?
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Aufgabe 2

Welche Aufgabe aus dem Einmaleins wird hier durch Spriinge auf dem Zahlenstrahl
dargestellt?

T T T TTTT ITTTTTTTTTTT [TTTTTTTTT I TTT
SHERUE R by |
0 10 20 30 40 0 10 20
X7= X6 =
I (T I I T I e Ier T ITTTITT T
o [T ay |
0 10 20 30 0 10 20 30 40
x4 = x4 =
NN
SN B L R R L
0 10 20 30 40 50
x 10 =

www.dw-aufgaben.de Selte ]_ bsp-5894-2/LOFI



‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘WWHH‘HH‘HH‘

0 10 20 30 40 50 60 70 80 90
x 8 =

Aufgabe 3

Welche Aufgabe aus dem Einmaleins wird hier durch Spriinge auf dem Zahlenstrahl
dargestellt?

Aufgabe 4

Welche Aufgabe aus dem Einmaleins wird hier durch Spriinge auf dem Zahlenstrahl
dargestellt?
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Viel Erfolg!
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